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PART A — (10 x 2 = 20 marks)
1. . What is DVST? Give its importance.
2. Mention the two basic approaches to area filling on raster systems.
3. What is the need of homogeneous coordinates?
4.  What are the types of clipping?
5.  Define blobby object.
6. Differenti.ate between parallel and perspective projections.
7. What is meant by illumination?
8.  What is HSV color model?.
9.  What is Morphing?

10. Mention the characteristics of a fractal object.
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PART B — (5 x 13 =65 marks)

With suitable diagram, describe the aréhitecture of a raster-graphics

system with a display processor. - : - (13)
Or
Explain the Bresenham’s line drawing algorithm with suitable example.
(13)
Discuss the various two dimensional basic transformations with suitable
figures. i (13)
' Or - .
Explain the Weiler-Atherton Polygon Clipping. (13)
Describe the quadratic surfaces in detail. (13)
Or )

Explain the depth-buffer method of detecting the visible surfaces. (13)

(i) Discuss about the XYZ color model. (6)
(i) Write a note on CIE chromaticity diagram. . (7
A Or ;

Write a note on :

1) RGB-color model ' =t (6)
(i) CMY color model. . (7)
Explain the steps involved in the desigh of animation sequence. (135

Or :

Briefly describe the fqllOWing 4 ;

@ Ray Tracing | ®)
(ii) Koch curve ~ : : . X (7

PART C — (1 x 15 = 15 marks)

Use the Cohen Sutherland algorithm to clip line P1(70, 20) and
P2(100, 10) against a window lower left hand corner (50, 10) and upper
right hand corner (80, 40). (15)

Or

Suppose we have a B-spline curve tbf degree 3 with a knot vector as
follows : i ' - (15)
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Insert a new knot t = 0.5, find new control points and new knot vector.
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